DAIHATSU

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




DAIHATSU

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




ﬂo[n
= Land DAIHATSU

APPLAUSE 1989-2000

DH-13203 DH-12201
Axial Joint Tie Rod End

Front Front Right
M12x1,25Rht-L=256mm M12x1,25Rht

4550387102 4504687784

DH-12202 DH-20280
Tie Rod End Control Arm Bushing
Front Left Center

M12x1,25Rht 4806887103
4504787284

DH-20281

Control Arm Bushing
Front Inner

4806887103

1989-1992

DH-12202 DH-12201

|
Tie Rod End Tie Rod End
Front Left Front Right
M12x1,25Rht M12x1,25Rht

4504787284 4504687784

2000-2006

DH-12151 DH-12152
Tie Rod End Tie Rod End
Front Right Front Left
4504687510 4504787510

HI-JET 1990-1998

DH-12101 DH-12102
? Tie Rod End Tie Rod End *i-’“

Front Right Front Left
M14x1,5 M14x1,5

4504687580 4504787580

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4 info@parsrot.com



—
sy L and

DAIHATSU

————— _______ ________________________________—"= = ——]
SIRION 1998-2005

o

SIRION

DH-13403 DH-16328
Axial Joint Suspension Control Arm and Ball Joint
Assembly
Front )
M12x1.25-L=233mm  FrontRight
4550397401000 4806897401
DH-16329 DH-12201
Suspension Control Arm and Ball Joint Tie Rod End
Assembly
Front Right
FrontLeft  M12x1,25Rnt
4806997401 4504687784
DH-12202
Tie Rod End
Front Left
M12x1,25Rht
4504787284
|
DH-13413 DH-13423
Axial Joint Axial Joint
Front Inner Front
M12x1,25-L=243mm Type:1.0iH/Back M14X1,5-L=243mm
45503B1010 45503B1020
DH-12421 DH-12422
Tie Rod End Tie Rod End
Front Right Front Left
Type:1.0iH/Back M14x1,5 Type:1.0iH/Back M14x1,5
45046B9210 45047B9150
DH-16418 DH-16419
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

Front Left Lower

48068B1080 48069B1080
DH-14416 DH-14417
Stabilizer Link Stabilizer Link
Front Right Front Left
L=50mm L=50mm
48821B1010 48831B1010

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

2005-2015

parsrot.com

5

info@parsrot.com



Rot sy

= Land DAIHATSU
SIRION 2005-2015
. |

DH-20874

= Control Arm Bushing

Front Outer

DH-20873

Control Arm Bushing o~

Front Left Lower Inner

- 48069B1020 48069B1080 .
TERIOS 1(J1) 1999-2005
DH-13303 DH-12300

Axial Joint Tie Rod End
Front Front
M14x1,5-L=311mm M14x1,5
4546087401 4504687401
DH-16308 DH-16309
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

Front Left Lower

Front Lower

4806887405 4806987405
DH-14307
Stabilizer Link
Front
4882287401
Il (J2) 2005-2017
DH-11314 DH-16318
Ball Joint Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

Front Left Lower
48069B4010

48069B4010
48068B4010
DH-16319 DH-14306
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly

-
Front
L=117mm s

4882297503
|
DH-20680 DH-20679
Control Arm Bushing Control Arm Bushing
Rear Center
48069B4010 48069B4010

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com






